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1 £ EOBAASERTLER RuBENse wREe FAELERH REEER
REHTE BE EBLIXREEHRE BE #2
2. FESHH HitihAEER ERBEEHKF
T o2 B EmEs FTRBILZEHER LBEE
3. A BB & 54 9A28H 10800% EME EXIRESHEE BIE BE
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% 5 2 HmERER A M PR | AR A e A fE PR | AR A ST W =
(Eifi: M) LT Lk B) (A)+(B) (Hifi: M) LT Bk 8" (A +(B")
1 |vooarsrevan | 406329 28,860,000 (@) ) 6.1290 46.7619 AL 10A2B%ALRE
2 | () Ta— 39.3670 28,860,000 @] O 6.1290 45.4960
3|(Mk)=a—Cxvs 37.4683 28,900,000 O @) 6.0959 435642
4|7 LTFKIaLH LAY 40.6329 28,860,000 @] O 6.1290 46.7619
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geTlim = B5rm x (1— AL/ FE M)
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WWRE WARES A% T B R R O S TR I SR 4= S
- EMRUEME | BHRUERY INHD S8t HiliT—7 | BAREE NG B B3 il =
25 25 50 36 64 1.00 100 8 158
XS Tau a2 ILAY (BE) 25 19 44 16.0000 38.9999 1.00 55.0000 8.0000 40.6329
2| (%) To— 25 19 44 16.0000 35.6666 1.00 51.6666 8.0000 39.3670
3|{(Bk) =2—C vy 23 16 39 16.0000 35.6666 1.00 51.6666 8.0000 37.4683
A{(BR)TILI7KIaAVHILEAY 23 21 44 16.0000 38.9999 1.00 55.0000 8.0000 40.6329
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